121 E R Bk

oM R B =K
PO I Bk
B =T g (K) 5m65 HiTH fiée (A L) 1996
£:504% (GR) 4m85 o (G 1993 104240 09:50 R
s
TR e - 3E | b7 8 o k
NEGL | BUE | Fon - | K4 g 1=1H | 2EE | 3[EIH ~ab | s 48l H | 5EIH | 6l H | Foék apVh
A8 79h 4m09 | 4m11 | 4m41 | 4m41 4m29 | 4m26 | 4m34 | 4m41
1 8| 3157/ K EFE (1) g H -1.7 ] +1.4 ] +1.3 ] +1.3 +2.5 | +0.1 ] -0.1] +1.3
VRE 3m64 | 4m00 | X | 4m00 3m90 | 4m21 X | 4m21
2 26| 2949|H T FiE (1) Jiikaal -1.4 | +0.4 +0. 4 +2.7 | +0.6 +0. 6
EEY 3m79 | 3m29 | 3m53 | 3m79 4m01 | 4m02 | 4m11 | 4ml1
3 23] 3833|7H B (1) A -0.3] 0.0 | +1.5] -0.3 +1.1] -0.8 | +0.4 | +0.4
RS 3m38 | X | 4m00 | 4m00 X X | 3m86 | 4m00
4 24| 2950|Kk F ®E & (1) ikl -1.0 +1.0 | +1.0 0.0 | +1.0
YRR 3m99 | 3m62 | 3m71 | 3m99 3m94 | 3m72 | 3m89 | 3m99
5 25| 1298|(JtEE 3 (1) iR -1.2 ] +0.8 ] +0.2 | -1.2 +1.5 | -0.2 ] +1.8 ] -1.2
IV T 3m42 | 3m56 | 3m65 | 3m65 3m72 | 3m91 | 3m69 | 3m91
6 4l 2741l EEL(D) L -0.4] -0.2 | +1.4 | +1.4 0.0 | 0.6 | +1.2 | -0.6
s 3ma3 | X | 3m66 | 3m66 3m83 | 3m78 | 3m56 | 3m83
7 2| 3265|F  ERE) B 0.0 +0.3 | +0.3 0.0 | +0.1] +0.4 | 0.0
)b 7Y 3m02 | — | 3m77 | 3m77 3m35 | 3m35 | 3m56 | 3m77
8 18 2961 |ZAYD AT (1) J\E —0.8 -1.3 ] -1.3 +1.6 | 0.2 | +2.5 ] -1.3
B AL 3m65 | 3m44 | 3m27 | 3m65 3m65
9 1] 13001/ vk ¥bieE (1) M +0.3 ] -0.9 ] +1.3 ] +0.3 +0.3
T ET — | 2m59 | 3m65 | 3m65 3m65
10 10f 2963[# 7k i (1) J\E +0.2 ] +0.7 | +0.7 +0. 7
PR 3m32 | 3m44 | 3m52 | 3m52 3m52
11 3l 27394 ZxE (D HHH -0.5] -0.1| +2.0 ] +2.0 +2.0
Yoy <A X | 3m17 | 3m50 | 3m50 3m50
12 16] 2919[1liJ11 2= (1) [l 0.0 | 1.8 ] +1.8 +1.8
ey a) 3m47 | 3m24 | 3m32 | 3m47 3m47
13 6] 3275]iLim AERL() B -1.6 ] +0.7 ] +1.3 ] -1.6 -1.6
£ 7 3m27 | — | 3m43 | 3m43 3m43
14 22| 3685|=%  WiE (1) [LFH -0.6 +1.1 ] +1.1 +1.1
' F a 3m26 | 3m21 | 3m38 | 3m38 3m38
15 5] 2047130 B (D) i 1 -1.3 ] +0.5| +0.7 ] +0.7 +0. 7
IR 3m20 | — | 3m35 | 3m35 3m35
16 17] 3686 hnEE  EHid (1) WFH -0. 1 -1.3] -1.3 -1.3
Aby a2a% om22 | 3m33 | — | 3m33 3m33
17 13| s37ailirE = Q) I 0.3 | +1.3 +1.3 +1.3
) VW 3m24 | 3m32 | — | 3m32 3m32
18 14| 3734|FF  E#E Q) I -0.9| +2.6 +2.6 +2.6
A4 ThA 3ml6 | — X | 3ml6 3ml6
19 15 3745\ 75 (1) I —0. 6 —0. 6 —0. 6
VE) AN 3ml3 X — 3ml3 3ml3
20 19] 2897 T K o%E (1) {5 % -0.6 -0.6 -0.6
X% )N om93 | — — | 2m93 2m93
21 20| 3829|#A  HiFE (D) A -0.4 -0.4 -0.4
IMF oF om88 | — — | 2m88 2m88
22 9] 3273|dEi BEQ) N -0.4 -0.4 -0.4
BREZ X X | 2md7 | 2m47 2m47
23 7] 2894| — 3R frAH +2.2 | +2.2 +2.2
YUk TV 2
11| 2918[ 1l Bk (1) i DNS
Y )
121 2967911 EmE (1) J\R DNS
Ty e
21| 3689|k MO 5 (1) LFE DNS

JL{5l DNS:XR15




